INTERNATIONAL INDIAN SCHOOL-BURAYDAH
MID TERM REVISION WORKSHEET #3 (2025-2026)
SUBIJECT - L.ARABIC- CLASS: VI

Q1l.Translate the following paragraph into English:

Sl ¢ LI Sl 838 Aol (§ 3990 BT cOhgho ) - e b Hp o9l Gi
gl (sl gll 3Uall Bl5 L) (§guoc Jaoxr slake (oad) ¢ 9 ~ully zyadl e paBil5 (o)

Q2. Use the upper paragraph to answer the following questions:

¢ orodlall padp g -1
¢ Wgl b3l 53RN 3b K - 2
¢ oeoslll iy as - 3
¢ oe99lall (S ol - 4

cLJj—Q:’uﬁ"'vuv\-‘L}W"—5

Q3. Translate into English:

Juoz 33 Bl ¢ pug3lo G2

5765 &Sl (§ 99395 U co3le (ghm).2

297515 5 s (bl (ghony AT (Bl (843
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gl B3l 5l Gy .5

bl gudd ! dio IS -6

8yl Sl | Ul gl Camalisrl -7

8oL a.,a_)& oD M‘ J -8

b W93 il -9

2oyl Jad Gl i -10

Q5. Make sentence:

Wl @ el B s A -1
wJaoz b gdlall & wohlo -2
Aol plaka)l 1dodd -3

T Cuady S -4

o ad gl a5
Adlo slowd! : slowd! -6
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Q6 . Fill in the blanks:

(1)W1 ~(4) o9k = (3)0ad) - (S)! - (2) 29> 9+

! S -1

RO daill S -2
oz Cadl -3

Jakll QS -4

s x| Gloeas -5

Q7 - Read the following paragraph and answer:
dioys § dady Hlog dudl (230 Byo (Ul guodll die CAL. ol LI § O
¢ plexall 2y ‘ojc 8yol dyoyd 1 Claddl JIad .8yl el | bl gl Caaoird
o Y il ugud! JSI": A JB 3. dyazxdy dudl ) Jao9ge ke ©g3 s
D% (po Ul gumell Caado 158D 9 . @ L1 udT & 0318 gty
S O (=1
o 8 yoedadl o izl opo = 2
Tl guoeld il JB 13 - 3
Sl Olol JI5T o0 — 4
¢ Al J Cdaidl Juog S =5

Q8 -Write the word meaning

Meaning Word
oSl -1
Sk -2
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Jl -4

VR =5

vw-bi‘ -6

by Sl -7

o2l - 8

39z90 -9

s> -10

Q9-Write the Arabic meaning

1- Examined
2- Disappeared
3- Teeth
4- Chance
5- Fox
6- Remove
7- Scared
Q10-Plural
= Jul
= s
= oA
= &«wb
Q11-Singular
= 02
= wlblk
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= ylxal
= Ol

Q12-Distinguish between right and wrong

() Ol @ Gllgeal Conniz! -1
() sy baw Caitl J1T -2
() ek ogd il el -3
() "800 doyd" wwdl JB -4
() ©Ulgesel opo sl G- -5

Q13 -Rearrange the sentences

() ewb o el pud -1
()L oblgedl Canizl -2
() dldle 305-3

() %I Oll Cdazdl JNT -4

()l ooy -5

Q14 - Read the poem and tick the correct answer:

NVEREARRE 2]l 36 b due
o § s S 99w 9 sasal clowd|
slany zbuo 3 S sl @l g
@l Olgl 8 oSS JiYl oda
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sLad)l S W lac S9gs JB3YI o

S o)l 36 1 die SR A3 130 -1
cla) -3 U -2 slgdl -1
Tamdl 3 sbid gud as -2
tlos § -3 s 3-2 clap 3 -1
?M\ S (G -3
slwog rluo §-3 oz dld §-2 9@ §-1
LY @& 136 -4

gl olgdl -3 Bledl olgl -2 slgdl Clgdl -1

Ql15s.

sy lac -3 Wwslo -2 e -1 )Yl sugd 13 -5
Fill in the blanks with the suitable prepositions

Gl saall ]

oadll el J 32

daall AN ki3

lal  asd) JLY Cwd g

e S Qlall a5
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